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DyHKUMSA y = arcsinx - HEYeTHas, T.K. arcsin(-x) = - arcsinx



He4YeTHas

O6nacTtb onpegenennsa dyHkumn: [-1; 1] Obnactb 3Ha4yeHus pyHKuum: [-11/2; 11/2]
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ObnacTb onpeaeneHunst pyHkumn: [-1; 1]
O6nacTtb 3Ha4yeHuss dyHkumm: [O; 17]
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O6pamHbie mpu2oHoMempu4ecKue
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OnpepeneHue arctga
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PyHKUNS y = arctgx - HEYETHas, T.K. arctg(-x) = - arctgx



He4YeTHas

Ob6nacTb onpegeneHns yHkumn: R
O6nacTb 3Ha4YeHust pyHKUmN: [-11/2; 11/2]
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O6pamHbie mpu2oHoMempu4yeckKkue ¢pyHKyUU
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O6nacTtb onpegeneHna dyHKumn: R
O6nacTtb 3Ha4yeHus pyHkumm: [O; 1T]
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Cnacunbo 3a padoty!



